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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

A few e T X AR st # gl Question ID : 9864494150

Status : Answered

Rice production ( In Crore Tonnes)
Countries] 2001 2002 2003 2004 2005 Chosen Option : 1
India 9 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8| 16.9 17.8
China 7.6 8.4 7.4 1.9 8.6
Japan 21 22.6 23.2] 22.2 23.9

Rice production (In crore tonnes)- =ae & 39 (FUT AT H)
Countries- 2T

India- &

Bhutan- sJeret

Srilanka- ST

China- ==

Japan- ST

o # FaweH 5w a¥ 9w F 3eaea # free g 2

Study the given data and answer the question that follows.

Rice production [ In Crore Tonnes)
Countries| 2001 2002 2003 2004 2005
India 9 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.5 15.7 16.8 16.9 17.8
China 7.6 5.4 7.4 Fe] 8.6
Japan 21 22.6 23.2 22.2 23.9

In which year did Bhutan’s rice production decrease for the first time?

v 1. 2001
# 22003
# 32005
# 4. 2004

Q.2

Ans

AT & 3:47 wot U # g§ 3k fBwe & gf @ e v & sl F 3 . .
BreT F0T BT 22 Question ID : 9864492913

‘What would be the smaller of the two angles formed by the hour hand and the minute SIS =L AR
hand at 3:47 p.m.? Chosen Option : --

v 1.168.5°
< 2.162°
# 3.166.5°
< 4.165°

Q.3




e A R F Iz Fow FA - mﬂ%g%%alert In Question ID : 9864492245

TFEA & g & & 3w el &Y g B srr an

The Grande Croix Commandeur in National Merit Order — the highest civilian honor of
Ivory Coast, Africa — was recently conferred on which Indian?

Ans IIT-I?:l’IE?-r ﬁiﬂ'

b
Manmohan Singh
Narendra Modi
y ; .
3.
Gopalkrishna Gandhi
JUTE H@=
v 2

Pranab Mukherjee

Status : Answered
Chosen Option :2

Q.4 TrafiEe # @ Fie @ 6ifos s v arg 1 o a1 vwaAe Ao ffg =
eI & IT IS ot BT TATH FLST Y

Which of the following physical quantities changes or tends to change the state of rest or
of uniform motion of a body in a straight line?

Ans EE-EIWFI'
F !
Mass
el

Force

SAscd
X3 o
Inertia

T
Momentum

v &)

X4

Question ID : 9864493539
Status : Answered
Chosen Option : 2

°'5§ H rger sEr I & Emaﬁv
How much does one need to addtc:#:tu obtain fi?

Ans X1E

Question ID : 9864492721
Status : Answered
Chosen Option : 3

20
1
X2 -
9
3. —
« 20
1.25
4. =
x 0.8
Q.6 77 RJweT F T¥T HL AT (Problem figure) TATHT BT & wod fEa (7) #
I TFAT Bl
Problem Figure
A4 SN
)k =< ?
* 7Ny | £ '

Select the option that can replace the question mark (?) in the Problem Figure.

~ T
YIAR= ?

Question ID : 9864494352
Status : Not Answered
Chosen Option : --
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Q.7 T Eﬁﬂiﬁﬂ? CAEr=") 9T OT%heT WERT faa =har
2017 # (éﬁ’) 2 & Question ID : 9864492248
Who won the Economic Times (ET) Lifetime Achievement award in 2017? Status : Answered
Ans m ﬁr—dﬂ. Chosen Option : 4
F !
Lakshmi Mittal

72 95, @ 9T
Y.C. Deveshwar
s ARG o Aol

Brijmohan Lall Munjal

gdter g
K42
Sunil Mittal

8
Q8 zay & =l T el &l g7 Question ID : 9864493198

- S - Status : Not Answered
Which of the following 1s a bisexual flower?

Ans

Chosen Option : --




RIEE]
X "

Watermelon
©RT
Cucumber
oLt
Mustard
it

Papaya

X2

W 3

X4
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Q.9 2017 & aRT # BGFT TF & WA Tigg & w7 A fonw wfie =i &
Torgera foram wrr o, T woa e @l (T Ash) & o # e
Yerrar ar?

In 2017, which celebrity was appointed as the Goodwill Ambassador of the United
Nations in India to amplify awareness about the Sustainable Development Goals (SDGs)?

Ans 1 Tz =a=T
Priyanka Chopra
| A et
Manushi Chhillar
v 3 HA
Ashok Amritraj

FEIT FEr
Kabir Bedi

x

< 4

Question ID : 9864492414
Status : Answered
Chosen Option : 1

QIO G FEmi  FI A 12 ¢ 3N 3T o 7281 A S A O = 24 ¢
ar gudr wE w2

The HCF of two numbers is 12 and their LCM is 72. If one of the two numbers is 24, then
the other number is:

Ans x1. 72
V2 36
#3860
X< 4 48

Question ID : 9864492642
Status : Answered
Chosen Option :2

Q.11 e F Tk B F U A H AT Thd S g HET K, q@ AL A
T SHaldr 8T F AT & 7| FT FT FF FASF F T FAT FaT 7

Pointing to a boy in a photograph, Neena said, “He is the son of my grandmother’s only
daughter”. How is Neena related to the boy?

Ans =

Question ID : 9864494141
Status : Answered
Chosen Option : 4

X1.m
Mother
xz_a'lﬁrfm#r
Grandmother
x o T A [T (g3 /AT [ars
Aunt
W 4
Sister
Q12 (5 & U S A, 9K & e uitEe & & e g

gl

, found in blood, is responsible for oxygen transportation.

Ans

Question ID : 9864493636
Status : Answered
Chosen Option :1
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Platelets

Q.13

Ans

9409 1 a?h:ﬁ fohagar 272 Question ID : 9864493004

Status : Answered

What is the square root of 9409? Chosen Option : 2

X187
X 297
X 389
v 83

Q.14 2017 & goiT 9T 33T I A 36T o' F AT FieT 87

Ans

Question ID : 9864492191
‘Who is the author of the Indian English Novel ‘No Other World® published in 20177
Status : Answered

x ) Jiﬁ‘al' ﬁ'ltl'lﬁ' Chosen Option : 3

Amish Tripathi

2 g ?
Rahul Mehta

X3 GIEECCIGI
Nidhi Chanani

x4 AdT T
Chetan Bhagat

Q.15 Tg uferar & S 3 3R &R AT Jaur 3R F 1 RET R

Ans

Question ID : 9864493630
Status : Answered

&l
is the process in which acids and bases react to form salts and water.
Chosen Option :1

REEIEIE:
| Hydrolysis
HaA
Distillation
LIRS GG

Neutralisation

YUY
X4 ﬁa:ﬂ?‘[
Electrolysis

K1

K2

W 3

Q.16 e &= 66 Freliefiex ufc Her & 13 ¥ 300 HieX & oW #i 24 Whs &

Ans

Question ID : 9864493011
Status : Answered

9T T §1 & Fhaer e o

A train travelling at the speed of 66 kin/h crosses a 300 m long platform in 24 seconds.
How long was the train? Chosen Option :2




x ;140 HIEX
140 m
v, 240 #eT
240m
x -, 160 HIEY
160 m

x 4 180 HIEX
180 m
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Q7 Tr=faf@a I=at F ¥ Fia a1 Beieonties A6 87
‘Which of the following animal is not triploblastic?
Ans Qﬁﬁ-ﬁ
v T
Jelly fish
LT
K2 2
Earthworm

TATATAT (Planaria)
Planaria
TTHH (Ascaris)

Ascaris

X3

X 4

Question ID : 9864493615
Status : Answered
Chosen Option : 4

Q.18 f&ar 1ar 9o =T (Problem figure) BT 1T 3cay T (Answer figures) & o
ot o & wieafea fmar m@m &1 3 3w =9 (Answer figure) S @r 2

Problem Figure

N

Answer Figures

0

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

A C D

Problem Figure

N

Answer Figures

Ans X1-B
<2 A
X3D
VENe

Question ID : 9864493980
Status : Not Answered
Chosen Option : --

Q19 3 30T Y A & SigT HUT A Ad g &
Name the organ where the embryo develops:

Question ID : 9864493417
Status : Answered




Ans

Fallopian tube
Koan ?

Ureter

WWW. govtjobslale (L. ceen option :2

Q.20 FereEe SRE AW A Tad YTHTE TAFAHT T F TF AT IEH Hey

Ans

g 2o o uw

One of the earliest explorers who visited India was Megasthenes. Which country did he
hail from?

UeATeT
v SR

Greece

X2 s C ]
Spain

iP=r=)

X3
Egypt

Ttaly

Question ID : 9864492123
Status : Answered
Chosen Option : 1

Q.21

Ans

faselr & dies R & 93T fras e far smar g7
‘What does the symbol R in electricity stand for?

v &) FfeRy

Resistance

fater AT (Rarefaction)
Rarefaction

X o &

Besonance
X4 39 |Ei 1

Refraction

X2

Question ID : 9864493045
Status : Answered
Chosen Option : 1

Q.22

Ans

% Hfee (circuit) # v g ¥ gET fig aF 2 C &1 am varfea @ g
afy &t figat & Aeg RemEior 5 aoe &, o BF aw F & A e
g

A charge of 2 C passes from one point to the other in a circuit. If the potential difference
between the two points is 5 V, the amount of work done is:

(1.103"3{

10J

0.4 =T
X2 o
047

2.5 FoT
X 3. o
257

Question ID : 9864493206
Status : Answered
Chosen Option : 2
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Super Tackle, Raider, Bowler, Defender

Ans «1. ﬁaa.lsr

Bowler
X2 oS
Defender
5 g T BT T Far
Super Tackle
TTATATL
Raider

x

X4

Q24 fow e 3 & FH A ks F ?Ti F@ 1 T F Question ID : 9864494148

Status : Answered
13,10, 7, 4,

Chosen Option :1

Select the correct option that will complete the given number series.
13,10,7.4,
Ans v’ 1.1
X22
X33
X 44

Q.25 weneer #ig A & #EEe $ FiF T Fo 74 @ o aET wé T 98
g

‘Which union minister from the Lok Jana Shakti Party belongs to PM Narendra Modi’s .
Cabinet? Chosen Option : 1

Question ID : 9864492267
Status : Answered

Ans v e grHaTT
Ram Vilas Paswan

e Aed AT
Radha Mohan Singh
x3_z‘|=='r AT TS
Ravi Shankar Prasad
. 9. AsEr

J.P. Nadda

<2

X4

Q.26
Question ID : 9864494136

Status : Answered
Chosen Option :1

5 Aol
X 4 ~
57
OB P & T BT e 27 Question ID : 9864494355
Status : Answered
Chosen Option : 4
T F BT FT Foll, TIAR, IeaTS, FaeTH
Which among the following is different?



e e o s 3 o e g o WAMWV-GQVEJODS@lETT.IN

el B

4
k3
[ —— Bows () ——=  Athletics
N ———  @ine [ ——=  Disciplined

£}

Boys -S4
Athletics  -T&remsr
Girls -er=famar
Disciplined -afgamf¥a

According to the given Venn diagram, the total number of students in the class is .

e B

4
8
[ —— Boys ) ———  Athletics
/N —— s [ ] ———= Disciplined

Ans «1_ 55
< 2. 54
< 353
# 4 56

E

Q.27 siwdr X & afy Awd ¥ i A7 F swala 92§ 3 s X F g ek
AT Y F afg T g § G A X FOAES Y § T dee §?
Ms. X’s husband is the only son of Ms. Y’s mother. If Ms. X’s brother and Ms. Y’s

Question ID : 9864493749
Status : Answered
Chosen Option : 3

husband are cousins, then Ms. X is Ms. Y’s

e T /AT /ey /g /At /TS

Sister-in-law

x4.33?|'

Sister

Q.28 e AT IR I fFE wE F 0 9 ol @ § & R SfSEr i .
2 . ~ Question ID : 9864493294
F T 8T &

‘Which group in the modern periodic table contains elements that are inert gases? Status : Answered

Ans W 17 Chosen Option :1
X"
Group 17



HHg 15
2.

Group 15

HHg 18

i o

Group 18
) HHAg 16

Group 16

X
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Q.29 3w 91T TEdedt H W AW & ol AT Tg aF & B T (@) sy

Ans

TFT F THEIT T H HFEOT (FIA ) FA

dedcd:

331, SN AR 9 T T o GG A S a9 qe A |

forsad:
1. TF $HE F 3HAT Ay H Py § AT Fewaer gem

2. g AT FAAL 7ET 2

Consider the given statement true and decide which of the given conclusion(s) logically
follow(s) from the statement.

Statement:

Arise, awake and stop not until the goal is reached.

Conclusions:

1. A human being has to get out of his state of helplessness.
2. No individual is weak.

" Faer sy 2 3TTEIOT FAT g
Only conclusion 2 follows.
|1 3R 2 el oo A A g

Neither conclusion 1 nor 2 follows.

Faer frshy 1 TTETOT FHAT g
3.

Only conclusion 1 follows.
|1 3R 2 2t sigeRer = E

Both conclusions 1 and 2 follow.

x

x

v

Question ID : 9864494243
Status : Answered
Chosen Option : 2

Q.30 sl W W vk ARen FT TS Tufd A, 36 ey od efay & 3w &

Ans

JeTd=T SIUT %60 ol 9% 50 o¥e ¥ &1 9o 95 fF Ty # AR, 3§
FRfEE Fafd 3k s e o el @ 7 ) ol & Ry & saf
oA Fufd & 3ega o1 30° aT) ag oA FRES Fufd ¥ fhasr g
el 52

The angle of elevation of the top of a 36 m tall tower from the initial position of a person
on the ground was 60°. She walked away mn a manner that the foot of the tower, her initial

position and the final position were all in the same straight line. The angle of elevation of
the top of the tower from her final position was 30°. How much did she walk from her
initial position?
x 1 24 Hiex
24m

Question ID : 9864493018
Status : Not Answered
Chosen Option : --




12+/3 Hlex
1243 m
5 36+/3 HlcX
36y3m
4. 24@3#12_{
2443 m

K2

v

x

www.govtjobsalert.in

Q.31 R 5 #Hiet 59 woieweT & 9 W, el elaw & @ 3ot o 305 9|

Ans

Ifg elat 45 Fie FT o af e & woieheT frdett gfr ) am?
From the top of a platform 5 m high, the angle of elevation of a tower was 30°, If the

tower was 45 m high, how far away from the tower was the platform positioned?
453 #rex
| 4543 m
4043 #rex
4043 m
40 #Hiex
40m
15v3 #Hiex

1543 m

Question ID : 9864492857
Status : Not Answered
Chosen Option : --

Q.32

& o$ gfe W En At aw w B & g ounomst & @ S @
sl &

gfaa:

2

T¥ 2020 T fEEE ¥

ARV

Ly

1. 2020 & wadr 7 29 fae @i
2. 3§ 2017 wa AFEE 7@

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
The year 2020 is a leap year.

Assumptions:
1. February will have 29 days in 2020.
2. The year 2017 is not a leap year.

x1_;rl‘-fr13ﬂt;r€rzaq'aﬁ%?r§|

Neither 1 nor 2 is implicit.

1 3R 2 gt TR satAtEd
Both 1 and 2 are implicit.

¥ R 1 s ¥
Only assumption 1 is implicit.

X FaeT [IUROT 2 HafAted gl

Only assumption 2 is implicit.

v

x

x

Question ID : 9864494087
Status : Answered
Chosen Option : 2

Q.33




wmm#mmﬁ#%ww%/g%% alert.in Question ID : 9864493109

Status : Answered

For dilution of a concentrated acid, we should add: Chosen Option : 4
Ans x 1 qret F Tieg 35T

concentrated acid into water
X2
Hd Ugel 375eT H 91T 3T fORT a1t 7 315t
first water into the acid and then more acid into the water
v T HFT H I=T
water into the concentrated acid
3FA H 9T
X4 FF:I:'-
water into the diluted acid

Q.34 45 freEfer 9fy 9 & oy & ;T = T o Afger 1 e w5
mﬁaquzrmﬁr%,aﬁﬁ;mmaﬁd%ﬁmﬁrﬁsﬁﬁwmﬁw

% 3 fwe 1 30 ¥ T ¥ T qE g B o g (R ) R Stat i 't gy
-yl ' Chosen Option : --

Question ID : 9864492971

A person driving at the speed of 45 km/h reaches office 1 minute early while she reaches 3
minutes late if driving at 40 km/hr. What is the distance (in km) that she is covering?

Ans x124
V230
<332
x4 28

Q.35 g T & gaw 3'5@_13?[ aeheT &7 | Question ID : 9864493471

Status : Answered

gs?l?ﬁ%r &R F T ﬁﬁmﬂ f;ﬂ?lT % I Chosen Option : 2

Fill in the blank with the most appropriate option.

Ethanol is denatured to .
Ans T 9= F T saged
v make it unsuitable for drinking
2 T WM-UF & T H 39goF T
| make it suitable as an antiseptic
o, T TR 3 3
increase its stability

x43ﬁtﬂﬁﬂ;ﬁv3qga¥ramﬁr

make it suitable for drinking

Q.36
Question ID : 9864494131

Status : Answered
Chosen Option : 3




fear r #FEr =T (Problem figure) srer E‘FV;Q‘\M [gs%ylllJu(n)asp§ale rt. I n

& e wF # @AftT 3 37 seow = (Answer Figure) @ Tg=ie ®il

Problem Figure

Answer Figures

FAEE =T - Problem Figure

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

Ans x1_D
X2 A
viC
X 4B

Q.37 v Fur TRuT HEET & YE R & 815 20 Vs F TorT TR ca o &1 35esa Sar &1 .
. > - > Question ID : 9864493100
Mg 7E T 10 FFE H X, AR AT 10 FFEHGh X, Towar g, & emRe A w
Frarard Status : Not Answered
A particle experiences constant acceleration for 20 s after starting from rest. If it travels a Chosen Option : --
distance X, in the first 10 s and distance X, in the remaining 10 s, then which of the

following is true?

Ans X 1. X, =2X,

X2X,=3X%,
XX =X
veX, =3X,

Q.38 20 Q% T WRIUH F FASR FT F T ZAT F @Y S w0 § |

Question ID : 9864493444
T WA @ 10 Q& e & S Sar § | 399 FAdew wiadr fhaer
2. “ Status : Answered

Chosen Option : 3
Two identical resistors of 20 €2 each are connected in parallel. This combination, in turn, P

is connected to a 10 Q resistor. The equivalent resistance of the combination will be:

Ans x1.209
v230Q
X350



X 4100
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Q.39 e F e ST &, e zarw 3 #iew 3 s 14 Fex ¥ 7S F T e
STt &, 3R 3T & = 3 e & et ¥1 v qeay aw F Rw s der dimr o

Ans

Question ID : 9864492611

el AT T T ERT FATAT ST &1 FAEareT il 3o et @i Status : Answered

A well of diameter 3m and depth 14 m is dug. The earth, taken out of it, has been evenly
spread all around it in the shape of a circular ring of width 4m to form an embankment.

Find the height of embankment?

K1

X2

v &3

X 4

L ey

8

Chosen Option : 3

Q.40

Sales of Bikes in India as per the Colourin

5% 1%

2009

25%

20%
10% 10%
0% » -
~Hilzq [
" M |

Blue Green Goiden Brown Black sier White Red Yellow

2009- 2009 F HRE & TT & HFAX asH Fr gk

Blue- frem
Green- g1

Golden- Eﬁ'{{r

Brown- sTo

Black- =Frem
Silver- T&ad
White- e

Red- @mer

Yellow- $rar
afg 2009 # &=h 715 FeT-wsfFat F For FEar 15,000 o, & Frer TT Fr FAT-wEEEa g

F e ¥foF o @ A Ae-EEtEe &= w7

Sales of Bikes in India as per the Colour in

0%
5%
20%

15% 1%

10% I
%
0%

2009

20%

25%

10% 10%
% ™
RETR |

i |

Blue Green Goiden Brown Black siver White Red Yellow

Question ID : 9864494227
Status : Answered
Chosen Option : 3

If the total number of bikes sold in 2009 was 15000, how many more red bikes were sold
than black ones?

Ans  of 1.2 250

<2
X 3.
X 4

750
3,000
2,300

Q.41

Question ID : 9864494138
Status : Answered
Chosen Option : 2
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LATERAL

‘Which of the options depicts the correct mirror image of the following figure?

LATERAL

™ x+LARETAL
v: JARITAI
“*FTABELAT
x+ JAA3ITAL

Q.42 7 % fier, & & 9 71 93 81 10 91 98 O & T 7 A, A A
R 7 T off| oA i qAn 9 e 82

Tom’s father is thrice as old as Tom. 10 years ago Tom’s father’s age was 7 times his age.
‘What is Tom’s current age?

Ans
5, 17 3
17 years

14 Y
14 years

x5 15 ay
15 years

% . 16 ay
16 years

v

Question ID : 9864492993
Status : Answered
Chosen Option :1

Q.43 =ofla & & Fia o aig 357 aAe W o sedea & aner sfaer
& Fr e

‘Which of the following metals does NOT react with Oxygen even at a high temperature?

Ans (1. El'iﬂ'

Silver

K 3.
Lead

X4

Zinc

Question ID : 9864493232
Status : Answered
Chosen Option : 2

Q4 Grafafag 7 O &g 1 s, Fo1 FI s & A 87

‘Which of the following has the same unit as energy?

Ans el
<1
Force

e

Power

X2

Question ID : 9864493401
Status : Answered
Chosen Option : 4




Helcd
 Density
v FRT

Work

X3

www.govtjobsalert.in

Q.45 v g3t oA & 6 T T HT I 9F e Hr AR FhA A E A T F
9:15 F= fiee & g§ forw e & g2

A watch shows 6 p.m. where the hour hand points east. In which direction is the minute
hand facing when the time is 9.15 p.m.?

Ans

Question ID : 9864493712
Status : Answered
Chosen Option : 2

Q.46 v T TE AT F =T HO A & 9T T sl A & ad F ww

A § 1 e wEh @ U geled &7
A girl introduces a man as the son of her grandfather and the brother of her maternal aunt.
How is the man related to the girl?

Ans v =TT /ATAT /G AT /ATF (uncle)

Uncle

T

Father
ST/ TT=T

X3
Nephew

X4.mé-

Brother

X2

Question ID : 9864494241
Status : Answered
Chosen Option :1

Q.47

Question ID : 9864494086
Status : Answered
Chosen Option : 3




38 3cl-3Ffd (Answer Figure) &7 m%waﬂg%é(y%9§alertln

Figure) & ? R &1 S o T

Problem Figure
0 | 0O
DOED |Adra|DeD|amed ?
U101 0
Answer Figures
Q
DED (DED|DEC|Amed
U 0
A B C D

Select the Answer Figure that can replace the ? symbol in the Problem Figure.
Problem Figure

0 | Q|00
oEo|asa|oso|ang) )

Answer Figures

U

DED |DED|DEC|CRO
Al U
D

A
Ans X1B
X 2D
v A
X4C

Q.48 T 3G gUUT & TRAT HE W UF T W T ¥ | $HH U6 el So:

An object is placed at the centre of curvature of a concave mirror. Its image is formed at:

Ans .’1_

i HIT Tl e & d fhell fag @
a point between focus and centre of curvature
X2 HihT T

the focus
| Tl g T W

a point beyond centre of curvature
x , Tl dg T

the centre of curvature

x

Question ID : 9864493163
Status : Answered
Chosen Option : 1

O Rl T T 84%, 105 &1 TEAT T &

84% of a number 1s 105. The number is:

ans K 1.112

Question ID : 9864493007
Status : Answered
Chosen Option : 3

X 2115
x3.125
v 4120

Q.50 2016 # FrrFreia ffEes, FFae v ¥ B & 9ma 3w
HAEST F AAGET BT F 3w F Fr A2

‘Which country hosted the 2016 Summer Paralympics, a major sporting event for athletes
with disabilities?

Question ID : 9864492180
Status : Answered
Chosen Option : 1




Ans et

X3

.Russia
X4 pITEa

Korea

www.govtjobsalert.in

Q.51 ‘w7 T A% s g ae el &, 5 a8 deer = siefaftes ama $r
it AEAEEATHT & AU HET B?

‘Who wrote the book ‘An Era of Darkness’ which extensively narrates the grim realities of
colonial India?

Ans de ST
b !
Chetan Bhagat

oIfer e’
Shashi Tharoor
x ,, T TET
Salman Rushdie
. TH. AT

p
V.S. Naipaul

v 2

Question ID : 9864492253
Status : Answered
Chosen Option : 3

Q52 57 pfay 1 AT F A FEAiHT TAg & wafoa @

e R
A B C D
Select the figure that does NOT belong in the following group.

A B C D
Ans ?("1B

v

X 3D

K4 A

Question ID : 9864494083
Status : Not Answered
Chosen Option : --

Q.53 el & T i ar anft & grff 3T e o ST T F g % e oEr
s

Which of the following is a correct pair according to increasing atomic number from left
to right?

Ans " 1. Na, Ne
X 2. He.H
< 3. Ca, Cl
v 4 Be,B

Question ID : 9864493073
Status : Answered
Chosen Option :2

Q.54

Question ID : 9864492399
Status : Answered
Chosen Option : 4
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iy 9 afra Bzt & gfes =< §1 2017 § 0 s e &
T T & seuaw I o

ESPN annually ranks 100 of the most famous active sportspersons in the world to create
the “ESPN World Fame 100° list. Which Indian player had the highest ranking in this list
in 20177

Ans x 1 IELECIDC NIy
Viswanathan Anand
o, T et
Sania Mirza
TH.TH. o=
MS Dhoni

farre rEel

Virat Kohli

X3

v &

Q55 qrerey & 37 H AL FoiT BT §T Sl ATEATE?
The energy released at the end of digestion is in the form of:

Ane v Tarafes =t
chemical energy

X2
kinetic energy
NECEr
thermal energy

ﬁz(-gaﬁfr

electric energy

x

x

Question ID : 9864493542
Status : Answered
Chosen Option : 1

Q.56 Arfaf@a & @ #Hia @ fRweT v s =y & wé adur gfafse # geiar 2,
ST Z9ur MN Y@ 9T @ T

M

Al

N

Select the option that depicts the correct mirror image of the given figure when the mirror
is held at the MN line shown.

Question ID : 9864494288
Status : Answered
Chosen Option :2
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O =7 T FiT T HFAST FE
Which of the following numbers is a prime number?

Question ID
Status

19864492724
: Answered

Chosen Option : 4
Ans  of 1181
X 2121
X 3141
X 4161
Q.58 ﬁﬁ Ena— zdleT IEE=2) Gl’la'
ﬁ # Eﬁa ?ﬂ' = + T - ;‘ﬁ a‘? Question ID : 9864492844
‘Which of the following pairs is NOT a pair of twin primes? Status : Answered
Ans x 1. 71 ' 73 Chosen Option : 3
X 2191, 193
« 3131, 133
X411, 13
Q.59 =y & a$ e & waw 10, agemer v AR Fr FeAay i wHT odaw ) \
3 T 9 O o & wear 7 R 3 Question ID : 9864493745
Status : Not Answered

e ‘3r R T A # ot i Fo s R 82

aRems FAHTT A | HFHTT B
arAr glismat 7 ther 28 23
A ar Rt
#I Tl HEAT
Aeamater ol & 14 12
Sl SfehaT TAIT
e # oy
Pacanfivat 1 ger
TEar

FeATa TheT F 6 17
g ST T
i 7 e
Frqanfirat #r g
Ear

arar afemst & o 64 55
g e faenf
T F T

The below table gives the details of the number of students in Class 10, section A and B
who had taken mid-term and final exam.

‘What is the total number of students in both, section A and B?

Result Sec A Sec B
Total number of 28 23
students who failed in
both exams.
Total number of 14 12

students who failed in
mid-term but passed in
finals.

Total number of 6 17
students who passed in

mid-term but failed in

finals.

Total number of 64 55
students who passed in

both the exams.

Ans X 1.292
v'2 219
X 3 291
X4 221

Chosen Option :




Q60 250 =T 56% fhaaT WWWW.QOthOb

569% of 250 is:
Ans o< 1. 56
<2112
v 3140
< 4 84

alert.in

Question ID : 9864492766
Status : Answered
Chosen Option : 3

W HF g IRE g S |
Thumba in Kerala is famous because
Ans «mugwfﬁ-zﬂﬁﬁiwﬁamé‘l
it is a rocket launching station.
| T T g g
it has an aryuvedic centre.
X TET FT Y =TT ST ¢l
it has several tea gardens.
| T a3 @ g

it has backwaters and lagoons.

x

x

x

Question ID : 9864492116
Status : Answered
Chosen Option :1

Q.62 FexhT T TLATY] FedHTA 32 u E| TR bl 60 IH AT 3 HIeT ol HEAT Thelalt &7
Atomic mass of Sulphur is 32 u. The number of moles in 16 grams of Sulphur is:

Ans x 1 TSR T 0.75 AleT
1075 moles of Sulphur

x o, FEPLH 1 Hrer
1 mole of Sulphur

TEHT FT 0.25 AreT
1 0.25 moles of Sulphur

HEHT HT 0.5 Hiel
0.5 moles of Sulphur

Question ID : 9864493068
Status : Not Answered
Chosen Option : --

Q.63

Question ID : 9864494044
Status : Answered
Chosen Option :1
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Iafafga &

fFa:

TR o e e ¥ 3t swar @ gorg & ¥ % ¥ g=t uv e aren
Aot o FY Fhiter Ig FEEELTSHT & 7l

JEURO:

Ly

1. BN W5F hall & GFEIGRI # SIT9R 3G HLT aEd gl
2. WHR gieed AfeRT & T i ag&r g 2l

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

Government had put advertisements and issued advisories to public not to eat food from
the roadside, as they are unhygienic.

Assumptions:

1. Government wants to stop roadside vendors
business.
2. Government wants to increase the profit of hotel owners.

Ans (1_3Fﬁ13ﬂta€rzaiaﬁr%?r%|

Neither 1 nor 2 is implicit.

| e JEUROT 1 3alted 2
Only assumption lis implicit.

|13 2 A RO safafed #
Both 1 and 2 are implicit.

e IR 2 sl ¥

Only assumption 2 is implicit.

x

x

<

Q64 37 g7A 1 =TT F A eAIRa BHE @ FafUE FE 2

(V64,9), (v8T,10), (vV36,8), (VIZL, 12)

Select the pair that does NOT belong in the following group.

(V64,9), (V81 10),(V36,8), (V121,12)
Ans x 1 (m] 12)
v 2.(/36,8)
X3 (V64,9)
< 4 (V81,10)

Question ID : 9864494075
Status : Answered
Chosen Option : 2

Q.65 gfyr sin x+ cos x = 2 sin x, @ tan x =T AT FAT EM?
If sin x + cos x = /2 sin x, then the value of tan x is:

Ans X 1.7 - 1
V27
o
X 442

Question ID : 9864492777
Status : Answered
Chosen Option : 1
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Q.66 feFr 71T A #, 37 W & FET %%g'gwjagpﬁr alert In Question ID : 9864494047
3+ §I Status : Answered

Chosen Option : 4

SM@A#N2B40&3C5P+D2

In the given sequence, the number of letters preceded by a symbol and followed by a
number is

SM@A#N2B40&3C5P+D2

Ans x14
V22
X 31
X3

Q.67 -
s s &1 9ar e Question D : 9864494356
B Status : Not Answered
Find the odd ﬂgure. Chosen Option : --
Ans

F !

Q.68 et TE=am % 15% &I, 99 EHY WEAT & 30% HF FST A1aw § A 7E E=A )
. ¢ 3 T 24% % w8 @ o T & &4 Question ID : 9864492866
O &) FEIE @7 ‘ ’ ? Status : Answered
15% of a number, when added to 30% of another, gives 24% of the sum of the two Chosen Option :2
numbers. The bigger number is 4 more than the smaller one. What are the numbers?
Al
ns X 1.6, 10
X212, 16
< 310, 14
V8 12
Q.69 -
el 3 T Aol (mole) H e 3] HiSE 27 Question ID : 9864493427

. Status : Answered
l."
How many molecules are present in one mole of water? Chosen Option : 4

Ans 7.02 x 1023 Ho]
1.

7.02 x 10*2 molecules



26
X2 6.02 x 10 3T

6.02 x 10*® molecules

22
x5 8.02x10 3-]'52'
8.02 x 10*? molecules
6.02 x 10?3 HoT
v 2 =
6.02 X 10 molecules

www.govtjobsalert.in

Q.70 =gt grga dw/wus W faR #T 3 37 3R 9 A @ dwer i s

Ans

TRt F § e sEH sl 27

Th/FU:

o Fr v TAEST FIar & 39S A¢ a4 (LED) &Y eurg 9T 50% &k &
TT & @ e T

TEEOTAY:

1. 9= (LED) & $r fashr s¢ @ 21
2. 9 912 (LED) €& $r ofrd fagear &)= =meet

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

A top television company announced up to 50% discount on their new launch of LED TV.

Assumptions:

1. The sales of the LED TV may increase.
2. The company will become the top seller of the LED TV.

| Fod qEemom 1 seafated @
Only assumption 1 is implicit.

X 2
ST & JEuReT 1 3T A & TEuRe 2 deatied gl

Neither 1 nor 2 is implicit.
| e RO seafated g
Both 1 and 2 are implicit.

| Tt o 2 stefatee ¥

Only assumption 2 is implicit.

v

x

x

Question ID : 9864494120
Status : Answered
Chosen Option : 3

Q.71 Fpf 39 far & 26 99 T §l T9FE ¥ 8 9 92 35F e & 37 sEF

Ans

=9 A 3H K A W A 9 FA el S F ToA 37 4w g (I 4)?

Jeremy is 26 years younger than his father. Eight years hence his father’s age will be two
years less than twice his age. What is Jeremy’s present age (in years)?

<118
V220
X 3 24
X 422

Question ID : 9864492792
Status : Not Answered
Chosen Option : --

Q.72 7y %208 T & 2,000 & Ader f&Far Sar &, 36K = & e

Ans

HIUR O =gie FRar sar € 18 A arg Tfdr faraet g

If¥ 2,000 1s invested at the rate of 20% per annum, compounded half-yearly, then the
amount after 18 months will be:

x 1. 2,600
x 232662

Question ID : 9864492948
Status : Answered
Chosen Option : 2




x3.32,628
V4% 3,200

www.govtjobsalert.in

O3 afE secO+tan6=2, T secH—tanH="?
Ifsecf+tan 6 =2, thensecO —tanB="?
Ans (1_[}_5

Question ID : 9864492677
Status : Not Answered
Chosen Option : --

X 2.0.75
X315
X 41

Q7 34 51 3T 68 &7 o. . FT HLl
Find the LCM of 34, 51 and 68.

Ans X 1.102
V' 204
73138
X 4238

Question ID : 9864492762
Status : Answered
Chosen Option : 2

AT gt TPl H AT H IS A T Whataw LA

Problem Figure

P D Lar.

C D
Choose the correct water image of the problem figure.

Problem Figure

Answer Figures

C D

A
X 1D

X 2B
vsC
X4 A

Ans

Question ID : 9864493837
Status : Answered
Chosen Option : 4




